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Question 1

Solve the following equation
z+1)+4=5-3(x-2)

[ -13

2 -3

3 3

4 %
Question 2

Solve the following equation
30z

Ts'— + 2= 5
] ¢
2 32
B -%
[4 -8
Question 3

Sunphfy the following expression as far as possible

\ /36x4y16

(1] 9ay?
2] 6z%8
3]  182%°
14 62y
Question 4

Simplfy the following expression as far as possible
2 (20 —a-4) - 2a(a+3) -1

1] 2a®—-3e2—6a-5

— —
)
A

—a?—7a-1
B] 2a*-3a2-10a-1
4]  2a®—-362+2a—1
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Question 5
Simphfy the following as far as possible s 3 3
T
-2
3
2 3
Bl %
4 %
Question 6
Simphfy the following as far as possible s 3 7
§ 1
n %
1
@ 3
3 5%
3
[4 3
Question 7
Simplify the following as far as possible s 1 s
1t3%]
2
] 3
11
& %
5
Bl &
I
Question 8

Determine the LCM (lowest common multiple) of the following

6a’be, 8abe, 12ab°

(1] 24a%bc
2] 12abc
(3] 12a%b%¢

4] 576a%bic?
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Question 9

The length of a rectangle 1s 3 cm less than twice the width Suppose the width 15 x cm, give an expression
m z for the length of the rectangle 1n cm

i} -3

2 2z-3)
3 2z-3
1 2z+2)

Question 10

Simphfy the following expression as far as possible

z? % 3
5

] =

[0 x5

B %

4 1

Question 11

e 10m ]

® . O

8m

O

O

O

A garden 15 laxd out so that 1t consists of a rectangle with a semu-circle at each of the shorter ends (See
sketch above) The garden contans a square fish pond and six aircular planting areas Each planting
area has a diameter of 1 metre The remainder of the garden 1s lawn Calculate the penimeter of the
garden, rounded to one decimal digit

[ 703m
(2] 1205m
(3] 2010,6m
4]  45,1m
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Question 12

Refer to the sketch in question 11 above
Calculate the area of the lawn, rounded to one decimal digit

[1] 121,6m?
2]  107,4m?
[3] 258,2m?
[4f 823m?

Question 13

Refer to the sketch i question 11 above
Calculate the volume of the fish pond in hitres 1f 1t 18 1,5 m deep

1 60002
2] 4000
3 6¢

4] 30000

Question 14
If C' = 2(¢ + w}, make w the subject of the formula

1] w=C-2-¢
2 w=5E

B w=20-¢
4] w=%+€

Question 15

A company manufactures soccer balls The company’s daily fixed costs (1 e rental, phones, stationery,
etc ) are R18000 One soccer ball costs R500 to manufacture and 1t 1s sold for R800 How much profit
does the company make per day 1f 100 soccer balls are produced and sold per day?

1]  R12000
2] R30000
[3  —R150000
[4) R48000

Question 16
Calculate the slope of the straight line graph which passes through the pomts (~1, =2) and (3, 4)

1 1
2] 3
3] dy=6x-2
[4 %
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Question 17

A dealer sells a certain washing machine for R2410, excluding VAT If we assume VAT 1s 14%, what
will the washing machine cost, including VAT?

1] R2072,60
[2] R2424,00
‘3! R2747.40
4 R337.40

Question 18
Suppose [ need 5 eggs to bake 2 cakes How many eggs will [ need to bake 14 cakes?

[1] 28
[ 14
3] 35
4 10

Question 19

Joseph 1nvests R36 000 at a simple interest rate of 6% per year How much will he have after 6 years
and 5 months?

[1]  R50040,00
2]  R49860,00
(3] R142200,00
[4] R52321,69

Question 20

Susan invests R45000 at a simple interest rate of 6% per year Two years later she invests another
R20000 at the same simple interest rate What 1s the total amount that Susan will have after another
3 years?

[1]  R82100,00
[2]  R74000,00
3]  R76700,00

4] R84500,00

Question 21

Deternune at what interest rate per year an amount will double mn 10 years’ tume if the interest 15
compounded monthly

11  7,18%
2] 0,07%
(3]  20,00%
4 6,95%
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Question 22

Determine the amount of interest that will be earned 1f R8000 15 invested for 30 months at an interest
rate of 13% per year, compounded half-yearly

(1] R2960,69

[2] R10960,69
[3]  R11600,00
‘4] R3600,00

.

Question 23

Sarah wants to save an amount of R100000 over two years for a deposit on a townhouse She wants
to make weekly payments into an account which offers an 8% yearly mnterest rate, compounded weekly
Determine the size of her weekly payments

[1] R3856,06
(2] R4522,73
[3] R887,40

4 R1041,25

Question 24

In 1997 Justin bought a three bedroom house for R480000 He paid a deposit of R150 000 and secured
a loan for the outstanding amount The yearly mnterest rate on the loan was 24%, compounded monthty,
and the term was 20 years Determmne the outstanding amount at the end of the tenth year if Justin

had done all monthly payments in full and the interest rate stayed fixed on 24% per year for the whole
period

1]  R439201,59
2]  R301951,08
3] R320370,97
[4 R0,00

Question 25

Refer to question 24 above

Suppose Justin had paxd R8000 per month nto this loan account from the start How long would 1t
take to pay off the loan if the mterest rate stayed fixed?

1] 12,7 years

2] 34 years
3] 7.3 years
4 22,1 years

TOTAL: 100
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FORMULAS

8
C=2(l+w)
C=4
C=a+b+ec
C = 2qar
A=Ilxw
A=1?
A:%bh
A= mr?
V=0
V=1xbasex h
V = nrih

y—n=m((z—x)

Y- _r-n
r— I Ty — I

I=Pri
S=P(1+rt)
S=P(1+2)"

P = Ram,

P=R[(1+z)"—1]

(1 +1)n

S = RSﬁh

S=R[(1+?"_1]
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